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Instructions to candidates

I Answer all the questions in the spaces provided afier each question paper.
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3. Candidates will be penalized for recording irrelevant information and incorrect spelling
especially of technical terms.

£ All working must be clearly shown where necessary.
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This paper consists of 9 printed pages.
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Answer _.Mo,gl the questions in the spaces provided.
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I. Explain howthe In‘%mnp occur during gene mutation. (2 marks)
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<<2 \\ (@) What is meant by the following terms. i2 marks)
@KQ)\&Q (1) In breeding i ‘
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(1) Cross-breeding

(b) State one advantage and one disadvantage of in breeding,

(i) Advantage . (1 mark)

(i) Disadvantage 1 (I mark)

3. (a)What are meristems? (1 mark)

L &

(b} (i) What is the role of cork-cambium in secondary growth? 2 marks)

(i) Name the meristem that is responsible for increase in length of stems. {1 mark)

4. State the advantage of polypoidy in plants. (1 mark)
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5.  (a)Majority of the vertebratgS axons are myelinated. What is the importance of this? (2 marks)
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(b) Som@bnganisms possess giant axons i.e. axons with unusually large diameter. What is the
b \ b y R T
s@?ﬂ@@%m of this? (1 mark}
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6. (a)State two features of entomophilous flowers. (2 marks)
(b)  What do the following terms stand for
(i) Pedicillate flower (1 mark)
(i) Gamopetalous (1 mark)
7. (a)State two functions of lutenising hormone in a female, _ {2 marks)
(b) State the two function of placenta in mammals. (2 marks)
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8.  State two functions of splgdn.
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9. (a) ;{»‘B%&s'an allele?
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N (b} Name the alleles responsible for blood groups in man.

10. State the importance of taxonomy in the study of biology.

11. (a) (i) What isthe function of the endodermis in plants?

(i) State the adaptation of endodermis to its function.

(b) State the function of pericycle in plants.

(2 marks)

{1 mark)

{1 mark)

(2 marks)

(1 mark)

(1 mark)

(1 mark)

(c) _isaspecial type of epidermis of young roats

whose cells give rise to root hairs
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12. The outer and inner lgyers of the plasma membrane are made up Of
6_'2’ whereas the middle layer is made
v T il ; (2 marks)
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13. Disy %@? hetween Haemolysis and Plasmolysis. (2 marks)
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Plasmolysis

14. Study the photograph below and answer the questions that follow

i ] k ;
Name the parts labelled K, L, M. (3 marks)
K

L

M

Ti ps on passing KCSE subscribe freely @http://ww.joshuaarim.com
Support thru' M pesa 0720502479. Connect with Joshua Arim on facebook. Not 4 resale.



=)

N
N
(b) Whattvpe of joint is fmwﬁ%cm-een
(i) Bones marked M{zsb (1 mark)
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(i) Bones mRPed N (1 mark)
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I'S:. (8 ‘s?»éh}cﬁgzéubstance 1s excreted in greater amounts by a mammal in urine under the following

&gd?[ious.

\k-& t°>" Environmental temperature of 15°C (1 mark)
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@\e\&Q‘ (1)  Alarge meal of sova heans taken earlier. {1 mark)
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{b}  How would insu ficient secretion of insulin affect the compasition of urine. (1 mark)

16. The diagram below represents a root hair.

Soil particles

o~
Root hair

(a)Explain how the cell is adapted to its function. (2 marks)
(b)  State the biological significance of narrow aylem vessels in flowering plants. (1 mark)
8
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17. Belowisacurve drawn fronga‘data obtained from an organism showing its growih pattern
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@\\‘\\& (a) ldentify the growth curve. (1 mark)
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(b)  Name the phylum whose growth pattern is represented by the curve. (1 mar{c).
(¢}  Account for the shape of the curve at part labelled C. (2 marks)

18. A process that occurs inplantsis represented by the equation below.
CH.O —3 2CHOH + 20C0, t+ energy
4 15 i - 2 z

Glucose ethanol carbon(iv) oxide
i | mark)
{a)ldentify the process. ( )
i infa o A maark
(b} State two economic importance of the process named in (aj above (2 marks)

(¢} Name the substance which accumulates in muscles when respiration occurs with msyi [icient
‘ oxveen _ (1 mark)
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19. Distinguish between b?g RSy
{a)Crenation and: &
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«°® & 20. The graph below shows the effect of light intensity on the exchange of carbon (iv) oxide between
\ ~ . 7
3 the leaves of a green plant and the surrounding air.

A A

0, i /”#? 5

co, Y

W

j;rﬂhag}.& - ij I%Fﬂk&!ﬁj

4 =
(a)What is the name given to point Y7 (1 mark)
(b}  Give anexplanation of the slope of the curve between Y and 7. (1 marks)
(¢)What process is predominant at between point X-Y? (1 mark)

21. The following is a diagrammatic side view of an insect illustrating blood circulation.
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ayWhat type of circulation igbeing illustrated?
(a)What type of circulati Qﬁ\é Cl
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QQ\ 22. State three adaptations of plants which enable them to reduce water loss. v

23. (a)Distinguish between essential and non-essential amino acids.

(b) Give two functions of lipids.

24,  Give the meaning of the term immunity:

25,  Humus is an important component of soil. State two roles of humus in soil.

(1)

(11)
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